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3 Yr. Degree/4 Yr. Honours 1st Semester Examination, 2023 (CCFUP)
Subject : Accounting & Management
Course: COMM1021 (MINOR)
(Business Mathematics and Statistics-1)

Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
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Notations and symbols have their usual meaning.
(2 32 wfes Fruf TRy g I FH )

1. Answer any ten questions: 2x10=20

@ (@ w5 AR T WS 3
(a) If 3" = 81 and 3" = 729, find the value of x and y.
T 3 = 81 @R 37 = 729 T, x IR y-47 WA A7 TR

(b) Solve: log, (7x = 2) — log,3 = 2
ST B ¢ log, (7x — 2) - log,3 =2

(c) Find the power set of {2, 5, 8}.
(2, 5, 8)-93 power set (B0 (i) e s

(d) If ?'p, = 100. "p,, then find the value of n.
w 2”p3 = 100. ”p2 74, 9@ n-499 AN fadfa =

(e) In what time will a sum of money double itself at 8% p.a. compound interest?
(Given, log2 = 0-3010, log108 = 2-0334)
IRF 8% v@iE 7 W @A 5 Fo ANE fagd 212
((req =g, log2 = 0-3010, logl108 = 2-:0334)
(f) A machine depreciates at the rate of 10% annually. After how many complete years will
the price of the machine be half of the cost price?
(Given, log2 = 0:3010 and log90 = 1-9542)
@I TER ARG 5T T 10% | F© I3 9 20 F0A T FAENA WES I ?
(sl Mg, log2 = 0-3010, 10g90 = 1-9542)
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(2) Find the values of x. y, z and ¢ when the following two matrices A and B are equal:

lt—x  x+y] (x—4 4]
A= ‘1 B=\|" i

-

Lz 34" |14x 5]
X, ¥, 2 AR 1-63 I 5efy I avm Spg wibEe A 932 B RS

-

- 3 E: 7
A=] t 1: X+ | B=| x—4 4]
D+z 3] |1+x 5]
@ 5= Sanap=]! ] i
El 3J —L_3 g 1 then prove that AB = BA.
gl [ 1521
WAy g B 2%, T3 29 A @ AB # BA|
i_l 3_‘ L_,_3 | s
13 -2 1i
@) HLI 0 5‘= —21, then find the value of x.
Pl 3 2

321
;,—ﬁk 0 5|=-21 =7, o=@ x~a3 I= @7 =@

3 2
() What do you mean by Optimum Feasible Solution of a Linear Programming Problem
(LPP)?

=0 TwfRe i e (LPP)-a3 7idien ades id e 9 (@I
(k) There are 20 stations on a way of railway journey. How many different kinds of
second-class tickets must be printed so as to enable a passenger to go from one station to another?
@ & @it 20 5 ohem wim | wenh Rfen wmm Rew-uite BRS woe
TR T FF LT AL 4T Gor (AF T CONE (RS AN 2
(1) Mention any two limitations in defining Statistics.
ARG FANS TR (5@ @ @ 4 TakEe S |
(m) Find the geometric mean of 3, 6, 24 and 48.
3. 6. 24 93 48-93 @GR ST [T T
(n) The arithmetic mean of 5, x — 1, x + 7, 14 and 20 is 11; find the value of x.
5.x-1,x+7, 14 9K 20-93 @R % 11; x93 9= {7 =@
(o) For a symmetrical frequency distribution, Q; = 25, Q5 = 45, find the median by using
Bowley’s formula.
45 2o Al Rerew= o712 Q, = 25, 05 = 45, Bowley ~43 3@ 9217 97 Froemig
T T T
2. Answer any four questions: 5%4=20
@ @A 5RG otsd T we
(a) There are 10 questions in an examination of Mathematics. In how many different ways can

a candidate choose 6 questions to answer? If, however, Question No.1. be made compulsory,
in how many ways can he select 6 questions in all? 23

sires <@l 7R 107 24 3w s¢ [fen oong goem BT 6 B o fidion w2
Tz frre 2Ry T | 2wfs ST 23, O (7 T T (0% 6 B 2 dism @ae g
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(b) A person purchased a house with a valued price Rs. 30,00,000. He pard K 10,000,000
?nilially and the rest amount with compound interest 12% p.a. m 240 equal maonthly
instalments. If the interest is accrucd with the principal amount after every b A
first instalment is payable after one month from the date of purchase, find the amount of
each instalment,

[Given, log1-01 = 0-0043, Antilog (j.()(,g)_ 009290 |

93 G 30,00,000 Biet syrena ol afe fafust | (1 @A = 10,00,000 bl furaifus
3% A B AR 129 barqfin 2ia -1z 240 1 swt i fafars g acafun ) e =ffe
AT R W S A 7 7 qag e fafe, et wifad e | A el el
O3 edrere fefa oifand Fefa acan

[Grewl wiit, logl-01 = 0-0043, Antilog (5.963)=0-(;92901

(c) By using Cramer’s rule, solve the following equations:
Cramer-43 foram efatst @ Mewa pelwaciafera samm ol ¢
xX+y-2z=-1
4y - 3x + 5z =16
2x+3y-2z-3=0
(d) Solve the following linear programming problem by graphical method:
@4 ~wfers Mwa @R i) Temba A a e
Maximize Z = x| + 7x;
subject to X + 20,58
X —-x,54
oy X 20
(e) Define Pie chart with an example. 2+3

TrEgerTz +if3 foraa g ws |

(f) The mean and variance of 6 observations are 7 and 5% respectively. If four of these
6 observations have values 4, 5, 6 and 7, then find the value of the other two observations.
6 15 SRR 1T 932 (O TR 7 938 5% 4fi @3 6 5w S v R
W 4, 5,6 9 7 T, OIFEA O 920 AGECR WA e e

3. Answer any two questions: 10x2=20

(a) (i) Show that I6l0g]0(:—g-)+1210g,0(%J+710g10(%)+log|02:l.

16 25

e @ lﬁlogw(ﬁ) # 12]0810(55)"'710810(%] +log,,2=1.
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(i) There are 175 students in a class. Out of them 100 read Mathematics, 70 read Physi
46 read Chemistry, 30 read Mathematics and Physics, 28 read Mathematics and Chermistry
23 read Physics and Chemistry and 18 read all the three subjects. Find the number of
students who read only Mathematics, How many students read none of the three sibjects”
S5+(3+2)
22 PI1 175 A Ta-gA e | wivea ey 100 G sAkls, 70 G A, 46 ma
AR, 30 @ oS @ siwiefml, 28 G oife @ i, 23 o omelan o
PR QR 18 o fomf g oivw | cadening sifile =191 wa-s1@ia Aee fref @val
FouH QI-gdl 62 foafs famm @i« e
(b) (i) In how many ways can the letters of the word ‘ACCOUNTANT' be arranged?
"ACCOUNTANT" *ilbe Srraafanss w6 Sl {4yt w41 af ¢

(ii) A machine is depreciated at the rate of 20% on reducing balance. The original cost

of the machine was Rs. 1,00,000 and the scrap value was Rs. 30,000. Find the effective
life of the machine.

[Given, log2 = 0-3010, log3 = 0:4771] 3435
G R I (SRR B9 20% 21 SREA T | (EAGE 2 Fe1 1.00,000
DRl 4R SRR SET T2 30,000 S| (idiafea pRieR e e o
[re3 ST, log2 = 0-3010, log3 = 0-4771]

(¢) (1) Solve the following equations by Matrix Inversion Method.

fandte Wity «1wfe a1 Ava ANsacaR TaE S ¢

xX=3vy+z=0
y=-4z+7=0
x+z=3
(ii) Show that (e (@) :
(b+e)? & a*
2 2 A 3
b (c+a) b* |=2abc (a+b+c) 545
¢ e (a+b)2

(d) (1) Inthe following frequency distribution, two class-frequencies are missing. It is however

known that total frequency is 1000 and the median is 413-11. Find two missing
frequencies.

Moo “Aficn Rewem 16 @f-sifma sasis a@m) afe of sm @ @b
SRR 1000 €3 NG 41311 | SeAfEe wAfRiea it Ry s
Value: 300-325 | 325-350 | 350-375 | 375-400 | 400425 | 425-450 | 450-475 | 475-500 |
(3T#) |

Frequency: 3 1 80 ? 326 ? 88 9
(+ifmican)

(ii) The first three moments of a distribution about the value 1 are 2. 25 and 80. Find the
moment measure of skewness. 545
(I FSTGGT WA 1-47 AT 22w ol wi 2, 25 @3k 801 amafvfes sfera
faef



